EARAROBEEIERT — 2 N— IBISH —F

2018%F2H26H (B) 26@EZHE1H

m C20# ¥5%—M (xwlw | mEmml - v 5 o 8
[A&4£] 1 7% :200,000” ~ 23#%:50,000” ~ 337%&:20,000H” . 43%&:12,000” 53 :8,000 8
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- o4 | BTHE 1:34.0 1-1-1-1 |39.3| — 1 488 | BRORK (BHE)
18|10/ T7L7 %55.0 Pl o | mra
X:O—I>J)> B:YIIAHTY IR [IT)=2h e
B4 | RARFAER 1:34.1 4-4-3-2 [ 39.1| — 2 392 | SiEBZ (BHE)
2l7lg| 7%V 54.0 (1/2) (o) | MO
R824 LINT Ry 72 B:O—LILf—Z8— Liee ]
. NN KA : 00— - SBREX (BHE)
slgly| 717 Rkeq> it 4 g 1.(3{3.7 2-2-2-3 | 40.9 3 12(1);5 R
R:AFA4Dd—I K B:E/TF> EvJdLy RT77—L4
e s 4 | DNEEFIAE 1:36.2 3-3-4-4 |41.2| — 7 418 | AEES (£R)
4 4 LA HR—27— 54.0 (2 1/2) (+2) (=) JPN!}’ﬁEﬁ
ixA1ZTr—2 B:aT7—Ivi— BaIl —5
4 4 | BRR— 1:37.2 5-5-5-5 | 41.8| — 5 440 |MZTEEE (BEHE)
51]1 |/ MAFA 54.0 ®) 43 | (A J PN
X:a-I> 79> B:773IUXL ARANT 7 =L
j N i 5 | BRELE 1:37.7 6-8-6-6 |41.7| — 9 485 | HERARIE (BEHE)
EE B Zh=xEa 4.0 2 1/2) o) | @8 Fr—xtETa>
LY LTAN—b B:TN-—FKF)ZX pliEszie]
s 5= N > 4 | FE5AME 1:38.2 10-10-10-7 | 40.1 | — 6 429 | BFEBC (BHE)
7155 E—-E-T75—-7% - 56.0 (2 1/2) (+2) (B) *—2457
L:iFHYYTIrRE B:ZP/7rU—Fzx Srdie
K =8 4 5 | LIE#ERE 1:38.8 7-7-71-8 | 41.4| — 11 a1 | REBES (BEHE)
8 7|>¥337>a7lb 54.0 3) () | (B J P N
RHTIRSAY BiRY4— kYT o> J =% Ty — L
3 o7 | MIEEEC 1:38.9 8-6-7-9 |41.5| — 8 501 | REESS (REE)
9 6 aAXELYT/ 56.0 (3/4) (+2) (B) k=457
7L I /2R BvARxINN)TT 1L 45
STow _ i 5 | RERZ 1:39.1 9-9-9-10 |41.3| — 10 | 503 |EEEHER (5242)
1okl 3| ¥y bRE—} 54.0 A) 2 | A R—Rr 7
Ry —3UTe BiAUHI Bel=bie
. = 4 | ALR— 1:40.4 M-11-11-11| 4.9 | — 4 487 | MBS (£R)
1l7l9| 74 v 7ATA1I ~ 7] 860 ®) (-5) @ 1PN
R:ZARM)—hE>R BR/—F by H—L— - TS  « T7— LERSE
® I —F—@EBIERL
13=7r= 10,11,4,8,1,2,7,6,3,5,9
2ol=5= 10,11,4,8,1,6,7,2,3,5,9
Gal=5r= 10,11,8,4,1,2,(6,7),3,5,9
40—+ — 10,8,11,4,1,2,5,7,6,3,9
[ N3
BB 10 130H4 714K 8-10 100H % E 7-8 110H 3EHE 8-10-11 190H
8 B 10 1004 10-11 160M B & 8-10 140M K31 10-8-11 350M
8 110 8-11 230M B H 10-8 160
11 140

ABICOVWTRDTEEERROODE. TR LIV,




